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Becca is increasing the prices in her café by 20%.  
Calculate the new price of the following items: 

 

 
 

  
 

 

 

 

 

Original price: £30 

Increased by 20% 

Original price: £60 

Increased by 40% 

http://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&frm=1&source=images&cd=&cad=rja&docid=sm0g0fKLlLH1hM&tbnid=ejZcFKgOtLU7mM:&ved=0CAUQjRw&url=http://www.amazon.co.uk/Monopoly-Family-Guy-Collectors-Etd/dp/B000EXDON8&ei=QIS0UbaXAuqk0QWQz4DYDA&bvm=bv.47534661,d.ZG4&psig=AFQjCNFuTHoL5CJRXsF0cHE7Y9SPXspMCg&ust=1370871139248634
http://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&frm=1&source=images&cd=&cad=rja&docid=8xTOfRucTkxpuM&tbnid=jFW4p14aBG9vhM:&ved=0CAUQjRw&url=http://www.guardian.co.uk/lifeandstyle/competition/2013/jan/13/win-mango-bike&ei=3YS0UbXgJsKj0QX5woCADg&psig=AFQjCNF9c7FEvlEZZpY6Dh55Ojp3b0OcKg&ust=1370871288005386


 
 
 

                      Working Deeper 
 

Tamzin has an amount of money saved.  
  

The amount is increased by 25% 
 

The new amount is then decreased by 25% 
 

Does Tamzin have the same amount of money as she started with? 
 

Explain your answer.  
 

               
 
 

 
 

 
 
 


